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T4 HEH = ouT 37 IN 37 GROSS 74
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B35 EWHHET LT RE (60 L)
it H . 20234E11 HO02H ARREH

2 Bl 1V MY —257 6,112 Yard Par 72
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TOTAL | JIEfZ | TOTAL | NET TOTAL | JBfiz | TOTAL | NET
F4 AR
389 1 393 4
K 4 OUT | IN |TOTAL |HDCP| NET K 4 OUT| IN |TOTAL HDCP| NET
g H = 37 | 37 74*| 0 |740 fit] 36 | 40 76 *| 24 |736
7 E E A 36 | 38 74 *| 12 |728 o o= = 39 | 38 77 *| 24 |746
X HF ¥ = 37 | 42 79 *| 48 |74.2 A R R 37 | 42 79 *| 6.0 |730
£ B pi:3 40 | 40 80 *| 48 |75.2 5 E X g # 39 | 40 79 *| 6.0 |73.0
#H E E A X 39 | 43 82 *| 96 |724 M O /& — 42 | 40 82 *| 132 |68.8
2 B IE = 42 | 43 85 | 96 |754 m oE A H 43 | 43 86 | 10.8 |75.2
TOTAL | Bz | TOTAL | NET TOTAL | EfZ | TOTAL | NET
=15 A
“ 390 2 395 5
K 4 OUT | IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL |HDCP| NET
H & 39 | 35 74*% 0 |740 F i I 39 | 36 75 *| 6.0 |69.0
H T A B & 38 | 39 77 *| 24 |746 & 2 Eid 37 | 39 76 *| 0 |760
a1 [| e 39 | 38 77 *| 24 |746 ¥ W BH 38 | 41 79 *| 6.0 |73.0
F B b5 37 | M 78 *| 48 |73.2 a & 42 | 40 82 *| 72 |748
BE B # - 42 | 42 84 *| 84 |756 M B B M 41 | 42 83 *| 84 |746
r % 7 47 | 40 87 | 144|726 B @B E x 51 | 47 98 | 240 | 740
TOTAL | i@z | TOTAL | NET TOTAL | JBfZ | TOTAL | NET
AR MERLL
391 3 400 6 3712 8
K % OUT | IN |TOTAL |HDCP| NET K & OUT | IN |TOTAL |HDCP| NET
X B i 36 | 39 75 *| 1.2 738 Zz ® B B 36 | 40 76 *| 48 |71.2%
E B B = 41 | 35 76 *| 24 |73.6 5 B B & = 37 | 40 77 *| 36 |734%
8% K B x 39 | 39 78 *| 48 |73.2 t & 4§ B = 41 | 40 81 *| 60 |75.0*
E H L 40 | 39 79 *| 48 |74.2 2 % B R O 40 | M 81 *| 48 |76.2*
x B # 1 38 | 45 83 *| 120 |71.0 5 R #B =X 40 | 45 85 *| 96 |754*
2 A B B 40 | 50 90 | 16.8 |73.2 B B H * 49 | 45 94 | 168 |77.2
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i E T 20234111 02F AR
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TOTAL | JIBfZ | TOTAL | NET TOTAL | JBfiZ | TOTAL| NET
A =21RiR
401 7 37110 7 406 10 366.4| 3
E 4 OUT| IN |TOTAL HDCP| NET K % OUT | IN |TOTAL |HDCP| NET
2 I T B 36 | 41 77 *| 12 |758* H B # 5 39 | 37 76 *| 24 |736*
fit] BE 8 36 | 42 78 *| 48 |732* H i A 41 | 39 80 *| 72 |728*
wO® -  E 41 | 38 79 *| 6.0 [73.0* ® B O - 42 | 39 81 *| 6.0 |750
ol E OB 39 | 44 83 *| 84 |746* 72 7z B 43 | 41 84 *| 10.8 |73.2*
5 A X B 45 | 39 84 *| 96 |744* X B B = 42 | 43 85 *| 120 |73.0*
B = & 41 | 46 87 | 108 |76.2 M A IE & 47 | 40 87 | 132 |738*
TOTAL | B | TOTAL | NET TOTAL | JBfif | TOTAL | NET
) KHEER
402 8 3624 1 407 11 /3698, 6
K 4 OUT| IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL HDCP| NET
#/ B ' - 37 | 39 76 *| 6.0 |700* B B = 39 | 36 75 * 0 |75.0%*
n # B3 38 | 40 78 *| 48 |732* m £ x =% 41 | 38 79 *| 72 |71.8*
M W & B 38 | 41 79 *| 84 |706* ;o ox = 41 | 42 83 *| 120 |71.0*
£t = - 40 | 44 84 *| 96 |744* BE H R H#H 41 | 43 84 *| 60 |78.0*
= W & 42 | 43 85 *| 10.8 |74.2* 2 B £ B 41 | 45 86 *| 120 |740*
OB/ M O® 47 | 44 91 | 144 766 #H H B L i 42 | 47 89 | 96 794
TOTAL | JiEfiZ | TOTAL | NET TOTAL | JBfiZ | TOTAL | NET
B3t &%
404 9 1363.2| 2 409 12 3674 5
K 4 OUT| IN |TOTAL |HDCP| NET K & OUT | IN |TOTAL HDCP| NET
= ® F E 38 | 40 78 *| 7.2 |708* g N & B 38 | 38 76 *| 0 |760*
ZE B # =z 42 | 36 78 *| 7.2 |708* M H = 36 | 40 76 *| 6.0 [700*
N B - B 41 | 40 81 *| 84 |726* F K B = 37 | 43 80 *| 84 |716*
W A & 1 & 41 | 42 83 *| 96 |734% a2 H # - 42 | 45 87 *| 6.0 [81.0
/NS N - S 43 | 41 84 *| 84 |756* I B H = B 43 | 47 90 *| 144 |756*
E H#F ®H B 43 | 53 96 | 16.8 |79.2 2 OHF OB X 44 | 47 91 | 168 |74.2*




#35m LHWHIEIT AT KL (60 FoB)

BicH T 2023411 HO02HARIEH
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TOTAL | JEfiL | TOTAL | NET
== ==
FEE
417 13 [366.6| 4
K % OUT | IN |TOTAL HDCP| NET
X B # B 37 | 38 75 *| 36 |714*
A K H B — 42 | 42 84 *| 108 |73.2*
X B B E 43 | 42 85 *| 120 |73.0*
WM B F B 39 | 47 86 *| 12.0 |74.0*
£ A B Ik 43 | 44 87 *| 12.0 |750*
£ ¥ # = 43 | 49 92 | 156 |76.4
TOTAL | EfZ | TOTAL| NET
KR
419 14 [3748| 9
K & OUT | IN |TOTAL|HDCP| NET
H B B - 37 | 39 76 *| 48 |71.2%*
7 ®R B % 41 | 42 83 *| 6.0 |770*
1T G - =} 40 | 45 85 *| 6.0 |79.0
E B H X 43 | 44 87 *| 108 |76.2*
B R i 42 | 46 88 *| 120 |76.0*
= I A 43 | 47 90 | 15.6 |74.4*

i #H 2%



